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C-Dividend Decision
4. |(U) y9Y T HAS AT § 1
A -Management is an intangible force
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A- Enables a firm to identify opportunities and get first
mover advantage
6. @ cafFdera e 1
D- Personal Selling
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A-Uncertainty
8. Br- Raifeer daer vamiid ata 1
D- Establishing Reporting Relationships
9. [ aRerar 1
C- Liquidity
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12.

GUETERY
C Employees

13.

AT qRALT T 3ETEI0T: UTRaTes I, fAer &1
o), A-Rarsr, feamd, &lgr 3 (#15 wer)

Example of Social environment: Family composition,
level of education, customs, beliefs, festivals etc. (Any
one)

14.

[ERIRRGRISGH

Financial Planning

15.

Fourteen

16.

3TaTr, 9

Forward, Backward

17.

SIRIEERCa el
Primary packaging

18.

SARNICISE)
Working Capital

19.

(T) 3fAFUF-A § FRU-R =TT g 3R RA HFradrearear
d

A - Both Assertion and Reason are correct and Reason is
the correct explanation of Assertion.

20.

(T) 3fAFYF-A g FRUT-R ST T g AR RA Hragrearear
d

A - Both Assertion and Reason are correct and Reason is
the correct explanation of Assertion.
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(F1E ar favdr & ar)

Marketing refers to that social process under which|
valuable goods/services are created, offered and by doing
transactions independently the needs are satisfied.
Features of Marketing:

1. Needs & wants

2. Creating a marketing offer

3. Customer value

4. Exchange Mechanism

(Explain any two in detail)
or

s 3carg @1 3T T Icuel ¥ B ST 3UsHEEdD
3carel A AT = & O F= ATd & ® F A9
fre S &

Seifie 3eurg &1 RewaTd

1. ShaT3l Fr T&ar

0. AEGH &N

3. #ioifors ShgrgeoT

(31 e TIEdR & a1Y)

Industrial Products are those products which are used as
inputs for Manufacturing consumer products.
Features of Industrial Product:
1. Number of Buyers
2. Level of Channel
3. Geographic Concentration
(Explain any two in detail)

dgdy Had:

[A20T 3RTSTRaT T X AT & 3R Tl fasmait &
EhATNAT i NATS &I Teh WHY & i feem &
fAETRITT el 8, 380 YR gvead Yediel FiaRed aHdl gl

1+2=3

(11/2x2=3)




CRGERE ISR

fAT=oT & ggTTel IS F q@A gU AT sfasy B
ST & AT H Age Har g1 safaw Ig #fasy Hr
NEd AT §a7 & Heg aldT ol

Better Coordination:

Controlling removes chaos and aligns employee action of
all the departments in direction of a common goal, thus
ensuring optimum performance.

Better Planning:

Controlling helps in formulation of future plans in the
light of problems identified in controlling. Hence it helps
in making better future plans.

OR
0T ANSART W FR Far § Fife I8 Jeenst 3R
aEdfad & a9 HaR @ AN gl e aw gevRed
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fe=or w7 $r gfafear RO garr FERT gar &1 39
UHR aldl & drg gfess 3R aREaRe d@9y Aleg &

Controlling depends upon the plans as it measures the
differences between plans and actuals. The controlling
function makes sure that everyone follows the plan
strictly. Continuous monitoring and check in controlling
function make it possible that everyone follows the plan. .
On the other hand, planning is guided by past experiences
and feedback report of controlling function. Thus there
exists close and reciprocal relation between the two.
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Formal Organization — It refers to the organization
structure which 1is designed by management to
accomplish a particular task.
Advantages of Formal Organization:-

l. Easy to fix accountability
No overlapping of works
Unity of command possible
Easy to get goals

Stability in organization (Any 3 with explanation)

OR

AT ST § ATRITT FAARIAT & AT FTATSNF Faeit
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Informal organization — It refers to the network of social
relationship among employees:

Features

1. Based on Formal Organization

2. It has not written Rules & Regulations

3. It is not deliberately created

4. It has no place on organization chart

5. It is personal

6. It lacks of Stability

Any 3 with Explanation
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heading+
12 mark
for the
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The process of staffing involves following steps:
Manpower Planning
Recruitment
Selection

Placement

Training
Development
Promotion

Transfer

Appraisal
Determination of Remuneration

<
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(1/2 x6)

(1/2 37k
e foig &
fero)

(1/2x6)
(1/2 mark
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step)
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A gATTGT LA &l
$H YR, YL &l qUT TaATe FE1 gl S Hebell &l
Management may be regarded as soft science because:
(1) Management has a systematized body of]
knowledge.
(i1) Like science, management principles are based
on scientific enquiry and observations.
(i11)) Like science, principles of management are
universally applicable.

But:
(1) Management Principles are very flexible
whereas pure science principles are rigid.
(i) Management Principles are applied with creativity|
as these principles influence the behaviour of human
beings. Thus, management can’t be called as perfect
science

1 mark for
each point
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Steps of Process of Planning

1. Setting Objectives
Developing Planning Premises
Identifying Alternative courses of action
Evaluating Alternative courses of action
Selection of Best alternate
Implementation of Plan
Follow up Action

A

(Ix 3)
"> mark for
each point
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Merits of informal communication:
1. Speed: Grapevine communication is highly|

rapid and can be used to send messages very
quickly.

2. Valuable Feedback: The grapevine provides
valuable feedback to the management, if it is used
intelligently. Informal channels are used by the
managers to transmit information so as to know
the reactions of his/her subordinates.

3. Check on Emotions: Grapevine
communication is an indicator of the employee's
interest in their work because the grapevine serves
as an emotional outlet for workers.

4. Acts as Motivator: Grapevine communication
can act as a morale booster because it can be used
effectively by the management for transmitting
good and positive ideas.
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Factors affecting dividend decisions:

(1) Amount of Earnings: Dividends are paid out of
current and past earnings. Thus, earnings are a
major determinant of dividend decision.

(1) Stability in Earnings: A company having higher
and stable earnings can declare higher dividends
than a company with lower and unstable
earnings.

(111) Stability of Dividends: Generally, companies try
to stabilise dividends per share. A steady
dividend is given each year.

(iv) Growth Opportunities: Companies having good
growth opportunities retain more money out of
their earnings so as to finance the required
investment. Therefore the dividend declared is
smaller.

(v) Cash Flow Position: Dividend involves an
outflow of cash. Availability of enough case is
necessary for payment or declaration of
dividends.

(vi) Shareholders' Preference: While declaring
dividends, the management must keep in mind
the preferences of the shareholders.

(vii) Taxation Policy: If the tax on dividends is
higher, it is better to pay less by way of
dividends. But if the tax rates are lower, higher
dividends may be declared.

(vii1) Stock Market Reaction: Generally, an increase
in dividends has a positive impact on the stock
market and vice-versa. Thus, while deciding on
dividends, this should be kept in mind.

(ix) Legal Constraints: Certain provisions of the
Companies Act place restrictions on payouts as
the dividend. Such provisions must be adhered to
while declaring the dividend.
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2. SNTEHA- fadt o Ho Gidl # 3110 ST i1 § TUT $o & HA
hT TeTeIeh §HIT e SITEH dTel B T ATATRSAT 31|

3. T AMeTd- 519 forddT ofY i &y forar Srar g ar faeTaa
AR 37T &1 JaYeh AT e TTHAT oIeTd arel AT )
T AT S|

4. (erg gaTE TEITA- AT Uehs arg T FEAT arell el KT
ST T ST AT &1 Frifeh a8 TEaT A gl & |

(1mark for
each point)

(1x4)
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3YHIFAT T AT IR JAgR AT ITHFAT &
MYoT & f@eTh HaROT &1 JVER T

Right to Safety- Before buying, a consumer can
insist on the quality and guarantee of the goods.
They should ideally purchase a certified product
like ISI or AGMARK.

Right to Choose- Consumer should have the right to
choose from a variety of goods and in a
competitive price.

Right to be informed- The buyers should be
informed with all the necessary details of the
product, make her/him act wise, and change the
buying decision.

Right to Consumer Education- Consumer should
be aware of his/her rights and avoid exploitation.
Ignorance can cost them more.

Right to be heard- This means the consumer will
get due attention to express their grievances at a
suitable forum.

Right to seek compensation- The defines that the
consumer has the right to seek redress against unfair
e practices or exploitation of the consumer.

(1x4)

12
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Trading on equity means the use of fixed cost sources of
finance such as debentures and loans to increase the
return on equity shares. It should be used when the Rate
of Return on Investment is more than the Rate of Interest
payable on debentures and loans.

Example:
Situation I Situation II
Earnings before 1,00,000 1,00,000
interest and tax
(EBIT)
Interest 30,000
Earnings Before 1,00,000 70,000
Tax (EBT)
Tax 30,000 21,000
Earnings After Tax 70,000 79,000
(EAT)
No. Of equity 50,000 20,000
shares
EPS— EAT 70,000 —14 79,000 ~3.95
Number of equ 50,000 20,000

1 Mark for
explanation
, 3 Marks

for example
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4, FFATA HT AEIHAN: ATcH-GFATA, TqATdT, 7GR,
w81, 3ueried, gfaver, fFufa

5. HTcH-aEATdehdl T AT HTcH-Yfd, SATFeard
faepra 1 Tarer IR afFaera & ar &1 Tga|

Maslow’s hierarchy of needs has five-stage models:

1.Biological and Physiological Needs: Air, Water,
Food, Warmth, Shelter etc.

2.Safety Needs: Freedom from Fear, Protection from
Natural Elements, Law and Order, Security and
Stability.

3.Love and Belonging Needs: Love, Friendship,
Affection, Trust and Acceptance, being part of a
Family or Friends on Work.

4.Esteem Needs: Self-Esteem, Independence,
Mastery, Dominance, Achievement, Prestige,
Status

5.Self-Actualization Needs: Self-Fulfilment, Seeking
Personal Growth and Realizing Personal Potential.

OR
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IR fodir wrcaresT:
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AR gfl I 3T FI&T o1 § AR wA=RET @
IR T &

Non Financial Incentives:

Appreciation — Giving due recognition for an
employee’s work encourages them to be more
diligent and dedicated towards their job. For
example employee recognition programs where the
best performer is declared from time to time.

Promotion —To keep an employee motivated,
companies can promote them to improve their
standing in the organization.

Job enrichment — Organisations can design jobs to
involve higher knowledge and skill levels, greater
responsibility and autonomy to motivate
employees.

Job security — Organisations must provide jobs that are
relatively secular compared to their competitors. It
brings economic security and employees get

motivated.

32 | o1t & SRl O (2x2)
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# 3. fasmmaeT:
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External Sources of Recruitment:
# 1. Direct Recruitment:
Many firms follow the practice of recruitment at factory
gate to fill casual vacancies. Such workers are known as
Budli Workers. This method is very useful for
recruiting unskilled workers. It does not involve cost of
advertising the vacancies.
# 2. Casual Callers:
In case of reputed organisations, many qualified people
apply for employment on their own initiative. Such
applications are known as casual callers. They serve as
a good source of manpower. A proper file may be kept
of such applications and the candidates may be called
whenever the need arises.
# 3. Advertising:
Information about the job descriptions and job
specifications can be given in the advertisement so that
only the candidates who think themselves to be suitable
may apply.

OR
(V) Sl A2 Tah Uar gfshar & foras gfdg] &t
AR 7 & T A ¥ gl AR F weiEaRa
foram Srar g, oifer fafawr &t & 3 AT 3R giteshior
AT ST Fo1AT S Toh| Teh TRATET HRIGAT A9 HH
A 38 FHerer g &1 3Th I Il sAlhd & faw
SEaR FATT, el 3N I §1 SEE 3cUleed H gefer g
g S 3cH & fov a1 9Rfeid saAarr #elerdy
3R SYRIUN T HHTel H HAST Bl &1 3 IR,

for each
point)

(2x2)
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point)
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(&) Aol TRIGTUT-HATRT SR FUT I YA Ty
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aEdfas H dd ¥ g AT fRar Srar g1 aredideh
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(A) Job rotation is a process in which the trainee is
systematically transferred from one job to another,
so as to broaden his knowledge and attitudes in
diversified fields. A trained worker is more
efficient in his work. He has better knowledge,
skills and speed for his job. This leads to increase
output which is profitable for the enterprise.
Trained employees are proficient in handling
machinery and equipment. Thus, less prone to
accidents.

Vestibule training-Employees learn their jobs on the
equipment they will be using, but the training is
conducted away from the actual work floor. Actual
work environments are created in a class room and
employees use the same material, files and
equipment.

1*6=6

1¢
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(A) Method Study
It refers to identify the most suitable way to do a
particular activity. To conduct this study, process
chart and operation research techniques are used. The
main objective of this study is to minimize the cost
of production and maximize the quality and level of
consumer satisfaction.

(B) Functional Foremenship

F.W. Taylor has propounded the functional
organisation. He separated planning and doing. This
form of organisation is totally based on the principle
of specialisation and makes full utilisation of the
expertise of 8 experts for the workers.In a functional
organisation, work is divided into many small parts
and each part is assigned to an expert. This Eight
bosses will be as follows:

==

I |
Planning Incharge Production Incharge

| |
Repairs

Time and
Cost Clerk Boss
Boss

Instruction
Card Clerk

Boss

Inspector

Disciplinarian

Workman

(©) Standardization
Standardisation means setting standards for different

(2x3)

Mention

any three
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factors, after due deliberation. For example, the
amount of work to be done by a worker in a day may
be standardized. In other words, the worker is
expected to do the standard amount of work every
day. In the same manner standards may also be set
for raw materials, machines and tools, techniques,
conditions of work, etc.

(D) Differential Piece Wage System

Taylor has advised the adoption of differential wage
systems in order to motivate the employees.
According to this system, wages are paid on the basis
of work done and not on the basis of time spent in
doing the work. In this system two different wage
rates are used: one is the high wage rate and the other
1s the low wage rate. Those workers who are able to
produce the standard number of units within a fixed
duration are paid as per the high wage rate, and those
workers who are not able to produce the standard
number of units within the same time are paid as per
the lower wage rate..

(2x3)

Mention
any three
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had Th a9 T e 3R Ader area e anfge afg
TS & AT H aF A1 F § ¥ aiss ey fhar
FHHANT P 1A & Ar 98 ATAT g Sean &k ag fhraedr
3ITAT T Greled | TG TIST H TS FHI Tehdl Sail
T & ar g AR & g 9H7, asel & i guy @
T 3R #f@eT 3R yeusl & ST g Y g A
HEG |

(s) |&HAT
T FAIRAT & Y FA AR GFAFYGS gagR
ST TTRT| Ig Tt &7 SFAeny & o fondy of
FHART Pl ASHT T THAT o HLAT 93| YR ar
FHATRAT & T 3a 3R FvgeT SgagrR e arfgu|
3CTEXVT & ToIU, Ueh haTalT 1 dclel Al Peer &

(2x3)

11




3AT ST R gEX AT FHAT HIAT IHAY Ye7 |
GURIEZIGED
I f@euia o& & & fob 9o 3R 3cureehdl Th gik &
HT & FFAARAT & IRT 3R 3cIEH T 0 @ &
for aisfas gaca gar aifRe| aisfas Aigs ar
I-Alfe & Tt &1 T8 TF AR F T &
3TER 3 3R gAieq g =g e
(3N) B
Yot & HHATRAT I Teh TIST H UgoT el & folU
FAS 3R Gicarigd e aifgu] sHd 3¢ 39 ¥ See
3R fawrg &7 #ge Rl waiat #F av Rt & sga
LA AT AT & ST AIRT| Ig T AR erefiery
WA P § 3 FU & d&T UIfied & FFHT I gl

(A) Unity of Command

The principle of 'Unity of Command' states that employees
should receive orders and instructions from one boss only.
If two or more superiors command a worker at the same
time, he will get confused to whose command should he
follow. If the unity of command is maintained in the
organisation it would help to avoid confusion among the
workers, conflict among the superiors and create better
relations between workers and managers.

Right Approach Wrong Approach
A AL
® ¢ © ® O O
‘ Superior
) Subordinate
(B) Equity

All employees should be treated equally and respectfully.
It’s the responsibility of a manager that no employees face
discrimination. Managers should treat employees fairly and
impartially. For example, allowing leave with pay to one

Mention
any three

It
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employees and denying the other will create dissatisfaction.

(©) Remuneration
Motivation and productivity are close to one another.This
principle argues that the remuneration should be sufficient
to keep employees motivated and productive.Remuneration
can be monetary or non-monetary. However, it should be
fair and adequate according to an individual’s efforts they
have made.

(D) Initiative
The management should support and encourage the
employees to take initiatives in an organization. It will help
them to increase their interest and make then worth.
Employees should be allowed to express new ideas. This
encourages interest and involvement and creates added
value for the company.
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The marketing mix consists of various variables, which

4Ps of Marketing Mix

The marketing mix consists of various variables,
which have broadly been classified into four
categories, popularly known as four Ps of marketing.
1. These are: (1) Product, (i1) Price, (ii1) Place, and
(1v) Promotion

Product:

A product is a commodity, produced or built to satisfy the
need of an individual or a group. Product mix includes the
decision regarding new product design and development,
branding, packaging and labelling.

Price:

Price is a very important component of the marketing mix.
It determines profits and sales volume. Things to keep on
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mind while determining the cost of the product are, the
competitor’s price, list price, customer location, discount,
terms of sale, etc.

Place:

Placement or distribution is crucial in marketing mix
strategy. A company should position and distribute our
product in a place that is easily accessible to potential
buyers/customers. It includes both the choice of
distribution channels and physical distribution.

Promotion:

It is a marketing communication process that helps the
company to publicize the product and its features to the
public. Promotional techniques grab the attention of the
customers and influence them to buy the product. It
includes advertising, personal selling, sales promotion and
publicity.

OR

Packaging — It is a group of those activities which are
related with the designing and production of containers in
which the products are packed. It packaging the product
container is designed in such a way that the usage of the
product becomes convenient.

Functions of Packaging.

1. Providing Convenience

Providing Protection

Product Identification

Promotion

Providing Information

kv

(Any 4 with Explanation)
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Planning does not guarantee success, this statement is true
because planning is only a means to an end.
Limitations of Planning include:

1. Planning Leads to Rigidity
A specific plan made in an organisation clearly indicates
the objective to be achieved and the ways of doing
work. Since, a manager may not be able to change these
plans, it leads to rigidity.

2. Planning may not Work in a Dynamic Environment
Business environment consists of social, economic, legal
and other factors that keep on changing. The
organisation has to adapt itself to such changes. But,
planning cannot assess future trends exactly and thus
fails in a dynamic environment.

3. Planning Reduces Creativity
It is an activity, which is done by the top management
and the rest of the members just implement these plans.
They are neither allowed to deviate from plans nor are
permitted to act on their own. Due to this, much of the
initiative or creativity inherent in managers or other
members gets lost or reduced, and there is nothing new
or innovative in the organisation.

4. Planning Involves Huge Cost
It usually involves a lot of time, effort and cost of the
managers. Collection of data, boardroom meetings,
investigations and discussions with experts involve a lot
of expenditure of the organisation. Sometimes, the cost
incurred may not justify the benefit derived from the
plans.

5. Planning is a Time Consuming Process
Sometimes, plans to be drawn up take so much of time
that there is not much time left for their implementation.
This leads to failure of planning.

Planning does not Guarantee Success




Success of planning rests on its implementation. Lack of
proper implementation may lead to failure of planning.
Even if a plan has worked earlier, it may not work again,

due to changes in the external environment.
Or

Difference between Functional Structure &
Divisional Structure

Basis Functional Divisional
Structure Structure
Formation Formation is Formation is
based on based on
functions product
lines and 1s
supported by
Functions.
Specialisation | Functional Product

specialisation. | specialisation.

Responsibility | Difficult to fix | Easy to fix

on a responsibility
Department. for
Performance.
Managerial Difficult, as Easier,
Development each autonomy as
functional well as
manager the chance to
has to report to | perform
the top multiple
management. functions helps
in managerial
Development.
Cost Functions are Duplication of
not resources in
duplicated various
hence departments,

economical hence costly.

One mark
for each
difference
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Coordination

Difficult for a
multi-product
company.

Easy, because
all functions
related to a
particular
product are
integrated in
one
Department.
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